10121 (KlOCLgo)

. 7“ ENERERERENE

5 1 8 9 4 10 2 3 7

\Q_/ / Solving Sequence

25—>539—>6—>10—>1—>8—>4— 7 —> C3,C4,C10

A knot diagranﬂ C2 Cs Cy C1 cg C4 cr

Ideals for irreducible component#ﬂ)f Xpar

I = (—1260218947u?? — 19109508090u>" + - - - + 984316106b + 5089661734,
— 2544830867u** — 38196855978u*! + - - - + 19686322124 + 17497959996,
u23+16u22+-~-—10u—4>
I¥ = (11166 + 343u'a® 4 - - - — 317a — 203, —u'%a® + 5u'%a® 4 --- 4 942 + 12,
M50t 4120 — 150° +8u7+4u6 — 8u® + 3u* + 3u® — 3u® 4+ 1)
I¥ = (u? — 5u® + 11u" — 12u° + 5u® + 3u* — 5u® + 3u® + b+ u — 2,
20 —9u® + 190" — 2108 +120° —u* =3P + 3w +a+u—1,
10— 5y +12u® — 160" + 1208 — 3u® — 3u* + 4u® —u? —u + 1)

* 3 irreducible components of dim¢ = 0, with total 77 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L
It = (—1.26 X 10%u2? —1.91 x 10"%42' +.. . +9.84 X 106+ 5.09 x 10°, —2.54 X
10°4?2-3.82x 101 %! +- . -41.97x10%a+1.75x 100, ©u?*+16u??+-..—10u—4)

(i) Arc colorings

e ()
o ()
e ()

(1 .29269u%2 4+ 19.4027u?t + - - - — 9.50831u — 8.88838)

a9 = \1.28030u?2 4 19.4140u?! + - -- — 4.03851u — 5.17076
0.319249422 + 5.03061u' + - - - + 6.76619u — 4.03209
ag = \0.0773747u?2 4+ 0.861665u2! + - - - + 1.83960u — 1.27700
1.08318u?2 + 16.7864u?! + - - - — 13.1020u — 8.83882
a1o = \ —0.0242790u?2 — 0.125186u2! + - - - + 2.48170u — 2.22746
1.02071u2? 4+ 13.6913u?" + - - - — 4.25396w + 6.74097
a1 = \2.26372u?2 + 33.8581u2! 4+ ... — 16.4513u — 3.77333
0.0123908u22 — 0.0112566u2! + - - - — 5.46979u — 3.71763
ag = 1.28030u2? + 19.4140u' + - - - — 4.03851w — 5.17076
0.540830u?2 + 8.50923u2! + - - - 4 5.59024u — 1.78760
as = \ —0.298956u22 — 4.34029u2! + - - - + 1.33635u — 0.967496
—0.221415u%2 — 3.51881u?! + - - - — 1.62252u — 3.99396
ar =\ 0.519049u22 4+ 7.71688u2! + - - - + 1.74955u — 3.39079
(ii) Obstruction class = —1
53190862554 29461471174 13339530290
(iii) Cusp Shapes = —JEHEGFu?? — UEEERu + - + 2 EGss v+ Hioaee0s3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u — 190 + - - - — 18432u + 2048
€2 u® —16u* + - — 10u + 4
c3,Cq P ruP o+ 2ut1
C4, Co uP ru 4 futl
Cs,C8 uP —uP 4 4 2ut1
c7, 10 u® —10u* + - — 108u + 16




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y? 4+ 9y 4 - + 2097152y — 4194304
€2 y? —2y%2 4. 4252y — 16
€3, Cg yB 49y 4 — 16y — 1
¢4, Co yB o y2y—y—1
Cs,C8 yB =3y 4+ 6y —1
c7, C1o y? + 1672 + - - — 1360y — 256




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.799030 + 0.5713031
a = —0.12013 — 1.577431
b=-0.99718 — 1.191781

1.35281 + 4.507711

12.5679 — 8.04531

uw = —0.799030 — 0.5713031
= —0.12013 4 1.577431
b=—-0.99718 + 1.191781

1.35281 — 4.507711

12.5679 + 8.04531

u= 0.924432
a=—0.417135
b= 0.385613

—1.38648

—7.37670

uw = —0.517217 + 1.0458301
a = —0.047708 + 0.8908471
b= 0.906994 4+ 0.5106551

6.24675 — 0.935991

3.26085 + 0.049911

uw = —0.517217 — 1.0458301
a = —0.047708 — 0.8908471
b= 0.906994 — 0.5106551

6.24675 + 0.935991

3.26085 — 0.049911

uw = —1.119710 + 0.5137181
a = —0.452909 — 0.7733901
b= —0.904431 — 0.6333061

0.95729 4 2.043511

2.51837 — 2.362811

uw = —1.119710 — 0.5137181
a = —0.452909 + 0.7733901
b= —0.904431 + 0.6333061

0.95729 — 2.043511

2.51837 4 2.362811

uw = —0.587912 + 0.1721981
a = —0.88228 — 1.278621
b= —0.738880 — 0.5997891

1.10859 + 1.698071

0.99491 — 2.625691

uw = —0.587912 — 0.1721981
a = —0.88228 + 1.278621
b= —0.738880 + 0.5997891

1.10859 — 1.698071

0.99491 + 2.625691

uw=0.267486 + 0.5102151
a= 0.57156 — 1.324281
b = —0.828550 + 0.0626071

2.14619 — 2.155161

1.26567 + 4.327111




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u= 0.267486 — 0.5102151
a= 0.57156 4+ 1.324281
b = —0.828550 — 0.0626071

2.14619 4 2.155161

1.26567 — 4.327111

u = —1.14560 + 0.908391
a = 0.060381 + 1.0658001
b= 1.03734 + 1.166131

—4.47926 + 10.821601

—7.18200 — 7.952251

u = —1.14560 — 0.908391
a= 0.060381 — 1.0658001
b= 1.03734 —1.166131

—4.47926 — 10.821601

—7.18200 + 7.952251

u = —1.14496 + 1.094961

a = 0.038158 —1.0043901 | —0.6004 + 16.97491 0. —9.344001
b= —1.05609 — 1.191781
u = —1.14496 — 1.094961
a= 0.038158 4+ 1.0043901 | —0.6004 — 16.97491 0. + 9.344001

b= —1.05609 + 1.191781

u= 0.257593 4 0.1394381
a = —3.87302 4 0.158111
b= 1.019710 + 0.4993161

1.57996 + 1.950491

0.00371 — 3.346101

u= 0.257593 — 0.1394381
a = —3.87302 — 0.158111
b= 1.019710 — 0.4993161

1.57996 — 1.950491

0.00371 + 3.346101

u = —1.37621 + 1.067521
a= 0.189943 + 0.5478591
b= 0.846254 + 0.5512001

3.21418 + 8.475241

u = —1.37621 — 1.067521
a= 0.189943 — 0.5478591
b= 0.846254 — 0.5512001

3.21418 — 8.475241

u = —0.84300 + 1.618831
a= 0.299587 — 0.0030101
b= 10.247680 — 0.4875171

—2.90076 — 2.917861




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.84300 — 1.618831
0.299587 + 0.0030101
0.247680 + 0.4875171

—2.90076 + 2.917861

—1.45365 + 1.278201
—0.325009 + 0.1930811
—0.225654 4 0.6961001

—0.52992 — 8.085211

U
a
b
U
a=
b
U
a
b

—1.45365 — 1.278201
—0.325009 — 0.1930811
—0.225654 — 0.6961001

—0.52992 4 8.085211




II. I¥ = (111u'%a® + 343u'%a? + - .- — 317a — 203, —u'%a® + 5u'%a? + -

9a? + 12, u'' —5ul® + ... —3u? +1)

(i) Arc colorings

- ()

o= ()
o= ()
a
ag = \ —0.350158a3u0 — 1.08202a2u!0 + - - - 4+ @ + 0.640379
CL2U
as = \ —0.0820189a3u'® + 0.350158a2u:10 + - - - — a + 0.996845
0.350158a3ul? + 1.08202a2u® + - - - — 1.04101a2 — 0.640379
0.0504732a3u'0 — 0.753943a2u'® + - - - + 0.876972a% + 0.0788644
0.0410095a3u° — 0.675079a%u!0 + - - - 4+ @ + 0.501577
a1 = | —0.0820189au!® + 0.350158a2u10 + - —a —0.00315457
0.350158a3u10 + 1.08202a2u10 + - - - — 1.04101a? — 0.640379
ag = —0.350158a3u0 — 1.08202a2u0 + - - - 4+ a + 0.640379
—0.328076a3u% + 0.400631a2u'0 + - - — a — 0.0126183
as =\ 0.410095a3u10 — 0.750789a2ut0 + - - - 4+ 24 — 0.984227
—0.451104a3u' + 0.425868a%u'0 + - - - — 0.712934a2 + 0.482650
ay = 0.246057a3u% — 1.05047a2u0 + - - - + 24 + 0.00946372
(ii) Obstruction class = —1

104,,10,3 _ 444,102 4 4 4, _ 6970

(iii) Cusp Shapes = gjzua’ — gzu "a’ +

317

-+



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u? +u+1)%2
C2 (ut 4+ 5ul® + 120° 4+ 1508 + 8u” — 4u® — 8u® — 3u + 3ud + 3u? — 1)4
c3,Cq uM a4+ —8u+1
Ca,Co u** —u*® 4 — 918u + 289
s, Cs ut —3ut 4+ Tdu+ 1
c7,C1o (u11 +3u10+---+2u+1)4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
“ (v +y+1)*
Co (yll_y10++6y_1)4
€3,Co M -9y -8y +1
¢4, Co y* — 13y + - - — 899368y + 83521
Cs, C8 y* 15y + - — 56y + 1
7,10 W'+ 7y =6y —1)*

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u= 0.326966 + 0.9166881
a = —0.038498 — 1.0484501

b= 0.80389 — 1.559031

2.98579 — 7.030621

1.84059 + 9.691611

u= 0.326966 + 0.9166881
a = —0.281007 — 1.2849501
b =

0.1356230 + 0.03798571

2.98579 — 2.970851

1.84059 + 2.763411

0.326966 + 0.9166881
1.23128 + 1.316121
b= —0.948517 + 0.3780991

u =

a =

2.98579 — 7.030621

1.84059 + 9.691611

0.326966 + 0.9166881
a = —0.083576 + 0.1181391
= —1.086020 + 0.6777321

u =

S8
|

2.98579 — 2.970851

1.84059 + 2.763411

U 0.326966 — 0.9166881
a = —0.038498 + 1.0484501
b= 0.80389 4 1.559031

2.98579 + 7.030621

1.84059 — 9.691611

u= 0.326966 — 0.9166881
a = —0.281007 + 1.2849501
b =

0.1356230 — 0.03798571

2.98579 + 2.970851

1.84059 — 2.763411

u=0.326966 — 0.9166881
a= 123128 —1.316121
b= —0.948517 — 0.3780991

2.98579 + 7.030621

1.84059 — 9.691611

u=0.326966 — 0.9166881
a = —0.083576 — 0.1181391
b= —1.086020 — 0.6777321

2.98579 + 2.970851

1.84059 — 2.763411

u = 0.864248 4 0.4077091
a = —0.129704 4 0.7977941
b= —1.09220 + 1.322531

—2.06894 — 4.277671

—9.63582 + 8.527701

u= 0.864248 4+ 0.4077091
a = —1.193510 — 0.2750751
b= 10.002110 — 0.5001931

—2.06894 — 0.217901

—9.63582 4 1.599491
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.864248 + 0.4077091
0.221332 + 0.4743481
0.919334 + 0.7243361

—2.06894 — 0.217901

—9.63582 + 1.599491

0.864248 + 0.4077091
0.44322 — 1.739361
0.437365 — 0.6366101

—2.06894 — 4.277671

—9.63582 + 8.527701

0.864248 — 0.4077091
= —0.129704 — 0.7977941
—1.09220 — 1.322531

—2.06894 + 4.277671

—9.63582 — 8.527701

0.864248 — 0.4077091
—1.193510 + 0.2750751
0.002110 + 0.5001931

—2.06894 + 0.217901

—9.63582 — 1.599491

0.864248 — 0.4077091
0.221332 — 0.4743481
0.919334 — 0.7243361

—2.06894 + 0.217901

—9.63582 — 1.599491

0.864248 — 0.4077091
0.44322 + 1.739361
0.437365 + 0.6366101

—2.06894 + 4.277671

—9.63582 — 8.527701

—0.577598 + 0.2834491
—0.081013 + 0.9132351
—1.57832 4 1.349621

0.11530 4 7.954311

—9.1705 — 13.48761

—0.577598 + 0.2834491
0.76538 — 1.714511
—0.918479 — 0.9260101

0.11530 + 3.894541

—9.17045 — 6.559451

—0.577598 + 0.2834491
—0.64749 — 1.920951
—0.043897 — 1.2072401

0.11530 + 3.894541

—9.17045 — 6.559451

—0.577598 + 0.2834491
—3.12633 + 0.802401
0.212063 + 0.5504451

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

0.11530 4 7.954311

—9.1705 — 13.48761
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.577598 — 0.2834491
= —0.081013 — 0.9132351
—1.57832 — 1.349621

0.11530 — 7.954311

—9.1705 + 13.48761

—0.577598 — 0.2834491
= 0.76538 + 1.714511
—0.918479 4 0.9260101

0.11530 — 3.894541

—9.17045 + 6.559451

= —0.577598 — 0.2834491
= —0.64749 + 1.920951
—0.043897 + 1.2072401

0.11530 — 3.894541

—9.17045 + 6.559451

—0.577598 — 0.2834491
—3.12633 — 0.802401
0.212063 — 0.5504451

0.11530 — 7.954311

—9.1705 + 13.48761

1.110200 + 0.8629881
= 0.028627 — 1.1333701
= 0.596743 — 0.9831921

—2.44783 — 4.734291

—9.46762 + 3.380771

1.110200 + 0.8629881
0.094059 + 0.8124871
—1.00987 + 1.233561

—2.44783 — 4.734291

—9.46762 + 3.380771

1.110200 + 0.8629881
—0.521303 — 0.3855631
0.177376 — 0.6453371

—2.44783 — 0.674521

—9.46762 — 3.547431

1.110200 + 0.8629881
0.182065 + 0.4397571
0.246013 + 0.8779291

—2.44783 — 0.674521

—9.46762 — 3.547431

1.110200 — 0.8629881
0.028627 + 1.1333701
0.596743 + 0.9831921

—2.44783 + 4.734291

—9.46762 — 3.380771

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g

1.110200 — 0.8629881
= 0.094059 — 0.8124871
= —1.00987 — 1.233561

—2.44783 + 4.734291

—9.46762 — 3.380771
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

1.110200 — 0.8629881
—0.521303 + 0.3855631
0.177376 + 0.6453371

—2.44783 4- 0.674521

—9.46762 + 3.547431

1.110200 — 0.8629881
0.182065 — 0.4397571
0.246013 — 0.8779291

—2.44783 4 0.674521

—9.46762 + 3.547431

—0.566454
—0.061706 + 1.2731101
1.26958 + 1.417281

—4.02369 — 2.029881

—18.2613 + 3.46411

—0.566454
= —0.061706 — 1.2731101
1.26958 — 1.417281

—4.02369 + 2.029881

—18.2613 — 3.46411

—0.566454
2.24127 4 2.502021
—0.034953 4 0.7211561

—4.02369 — 2.029881

—18.2613 + 3.46411

—0.566454
2.24127 — 2.502021
—0.034953 — 0.7211561

—4.02369 + 2.029881

—18.2613 — 3.46411

1.05941 + 1.170961
0.014454 + 0.9531471
—0.651229 4 1.2430801

—1.50728 — 7.246171

—6.43603 + 12.476881

1.05941 + 1.170961
—0.307069 — 0.8339691
1.10078 — 1.026701

—1.50728 — 7.246171

—6.43603 + 12.476881

1.05941 + 1.170961
0.426989 + 0.5264071
—0.201428 4- 0.5601531

—1.50728 — 3.186411

—6.43603 + 5.548681

1.05941 + 1.170961
—0.177470 — 0.3325831
0.164043 — 1.0576701

> Q& €| & €|l & €| Q& €| 2 &) Q@ 8| Q@ €|l & €|l & &> & &
I

—1.50728 — 3.186411

—6.43603 + 5.548681
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 1.05941 — 1.170961
0.014454 — 0.9531471
—0.651229 — 1.2430801

—1.50728 4- 7.246171

—6.43603 — 12.476881

1.05941 — 1.170961
= —0.307069 + 0.8339691
1.10078 + 1.026701

—1.50728 4- 7.246171

—6.43603 — 12.476881

1.05941 — 1.170961
0.426989 — 0.5264071
—0.201428 — 0.5601531

—1.50728 4 3.186411

—6.43603 — 5.548681

1.05941 — 1.170961
—0.177470 4 0.3325831
0.164043 + 1.0576701

u
a
b
u
a
b
u
a
b
u
a
b

—1.50728 4 3.186411

—6.43603 — 5.548681
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I11.
IY=(u—5uf+.--4+b—-2, 2u® —9u®+---+a—1, u'®—5u +-.- —u+1)

(i) Arc colorings

o ()
o ()
oo (1)

<—2u9 +9ud — 1907 + 2108 — 120 + vt + 3u® — 3w —u+ 1>

ag = —u® 4+ 5u® — 11u” +12u8 — 5u® — 3ut +5ud —3u? —u +2
—u® + 3ud — 4u” +ub +u® — 203 +u? - 2u—1
as = \ —2¢9 + 8uB — 15u” + 13u® — 3u® —5ut +5u® —3u?2 —u+1
—ud 4+ 5u® — 1207 + 16u8 — 13u® + 6u? —ud — 2u2 + u
@10 = \ —u? + 4u® — 8u” + 8ub — 3u® — 3ut +4uP — 22 —u+1
4u? — 18u® + 38u7 — 4208 + 23u® — 9u® + 8u? +u —3
ay = —u® + 3u” — 4u® + ud + 2ut — 3ud + 2u? —u -2
—u 4+ 4ud — 8u” +9ub — Tu® +4ut — 2 -1
ag = \ —¢? +5ud — 1107 + 1208 — 5u® — 3u* + 5u® — 3u? —u + 2
wd — 4B+ T — 4w — 4P 4+ 9ut — TP + 3 +u—1
a4 = —u® 4+ 4u” — 8ub + 8ub —dut +u? -1

—u® 4+ 3u® —4u” + 08+ 2u® — 3ut +2ud — 202 -2
ar = —u® 4+ 4u® — i +5u8 —3ut + 20 —u —2u+1

(ii) Obstruction class =1

(iii) Cusp Shapes = 14u° — 60u® + 1244”7 — 133u® + 74u® — 2u* — 25u® + 27u? + 6u — 16

16



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

€1 u'® 4+ 408 — u” + 60’ — 3ud + 6ut — 3ud + 4u? — 2u+1
C2 u® — 50 +120® — 160" + 120 — 3u° — 3wt + 4 — WP —u+1

c3,Cg w4+ 30 +3u8 — 0 — S+ T+ 11t + 30 — 3w —u 1

C4,Cy w4+ —w® — 20"+ 3w — 2t — P+ U —du+ 1

Cs, C8 '+ u® + 3+ 20"+ Tul + 50 + 8ut + 4P AP +u+1
cr u'® — 3u® 4+ 9u® — 1607 4 24u8 — 27u5 + 24u* — 183 + 10u® — du + 1
c10 ul® + 3u® 4+ 9u® + 1607 + 2468 + 2705 + 24u* + 183 + 10u® + 4u + 1

17



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1 y10+8y9++4y+1
C2 Y0 — % 4 8y® —4y" + 1495 + 1505+t + 83 + 32 — 3y +1
¢s, Cg ' =3y . Ty +1
€4, C9 y' =3y’ +- —6y+1
C5,C8 Yyl + 57+ Ty + 1
¢7, €10 y'0 4+ 9y% + 33y° + 62y7 + 564° + 5y° — 26y — 12 +49% + 4y + 1

18



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.689571 + 0.5759661
= —0.12950 — 1.628251
= 0.84852 — 1.197381

0.99844 — 4.621971

—7.4943 + 13.18421

= 0.689571 — 0.5759661
= —0.12950 + 1.628251
= 0.84852 + 1.197381

0.99844 + 4.621971

—7.4943 — 13.18421

= 0.117471 + 0.8845701
= —0.748660 + 0.1300041
= —0.202944 — 0.6469711

—2.84633 — 2.073931

—9.25779 4 2.432391

= 0.117471 — 0.8845701
= —0.748660 — 0.1300041
= —0.202944 + 0.6469711

—2.84633 + 2.073931

—9.25779 — 2.432391

1.171940 + 0.6740041
—0.240799 — 0.6064531
= 0.126549 — 0.8730271

—2.30790 — 1.971771

—10.18714 +- 3.259871

1.171940 — 0.6740041
= —0.240799 + 0.6064531
= 0.126549 + 0.8730271

—2.30790 4+ 1.971771

—10.18714 — 3.259871

= —0.561171 + 0.1942551
—0.531466 — 1.2766101
= 0.546232 + 0.6131571

0.66134 — 7.139251

—2.98492 4 4.640461

—0.561171 — 0.1942551
—0.531466 4 1.2766101
0.546232 — 0.6131571

0.66134 + 7.139251

—2.98492 — 4.640461

1.08219 + 1.114711
0.150423 + 0.8801761
—0.818356 + 1.1201901

—1.44035 — 6.197941

—4.57589 +- 3.754441

1.08219 — 1.114711
= 0.150423 — 0.8801761
= —0.818356 — 1.1201901

> Q& €|l & €|l & €| Q& €| 2 €| Q@ &l Q& €|l 2 €|l & €| & &
I

—1.44035 4+ 6.197941

—4.57589 — 3.754441
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IV. u-Polynomials

Crossings u-Polynomials at each crossing
1 (W +u+1)2)(u'® +4u® + - = 2u+1)
S(u® = 190 4 - - — 18432u + 2048)
e (u® — 5uf 4+ 120® — 160" + 12u° — 3u® — 3u® + 4u® —u? —u+1)
(w4 50 + 1200 + 15u® 4 8u” — 4ub — 8u® — 3ut + 3ud + 3u? — 1)*
(u? —16u* + - — 10u + 4)
c3, Co (u'® + 30 4+ 3ud — u” — ub + 7w 4 11u? + 3u® — 3u? —u +1)
(WP P4 2u+ D)W e+ —Su 1)
¢4, Co (u® 4 u® —u® — 2u” + 3u® — 2ut —ud + 5u? —4u 1)
(WP uBP 4 a4 1) (e —u® o — 918u 4 289)
cs, Cg (u'® +u? + 3u® 4+ 2u” + Tu® + 5u® + 8ut + 4ud + 4u? +u+ 1)
WP w4 2u+ ) (WM =3+ 4 1du 1)
cr (u'® — 3u® + 9u® — 16u” + 24u°® — 27u® + 24u* — 18u> + 10u® — 4u + 1)
(et 3t 4 20+ 1)) (u? — 106 + - — 108u + 16)
10 (u' + 3u® + 9u® + 16u” + 24u° + 27u® + 24u* + 18u® + 10u® + 4u + 1)

(et 3t 4 20+ 1)) (u? — 106 + - — 108u + 16)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing

o (P +y+ 1)) +85° + -+ Ay +1)
(y* 4+ 9y** + - + 2097152y — 4194304)

Co (10 — y° + 8y° — 4y” + 14y° + 15y° + y* + 8> + 3y° — 3y + 1)
(" =y 4 6y = DY - 207 + -+ 252y — 16)

e3, C (y1073y9+77y+1)(y23+9y22+716y71)
<y44—9y43+—8y—|—1)

C4, Co (y10_3y9+_6y+1)(y23_7y22+_y_1)
(y* — 13y% 4 - — 899368y + 83521)

Cs, C8 (v +5y" + -+ Ty +1)(y* =3y + -+ 6y — 1)
(™ A+ 15y 4 — 56y + 1)

er,C10 (910 + 9y + 33y° + 627 + 56y° + 55 — 26y* — 124% + 4¢% + dy + 1)

AWM+ Ty 4= 6y — DY) + 1657 4 -+ — 1360y — 256)
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